6 | | L 3 | 2 |
Artikel-Nr. d2 |d3|d&| 11| 12|13 |SW|t
dl mm
SToxxparts MM |MmM|{mm|mm|mm|mm|mm|mm
01000329001 |[M12x1.5( 4.2 |24 (1210 [16 | 5| & | 11
01000329002 |M12x1.5|5.2 | 241210 |16 | 5 | &4 | 1
A-A 01000329003 |M12x1.5| 6.2 | 24| 12|10 |16 | 5 | & | 1
01000329004 |M16x1.5(10.2{32 |16 |12 |20 | 7| 6 |13
11 01000329005 |M16x1.5(12.2| 32|16 |12 20| 7 | 6 |13
01000329006 |M16x1.5{8.2 32|16 |12 |20| # | 6 |13
A I 1,5
//
‘\ g _
TN = S _____I - <
\\/ / 3| © |
I
N gt K i
A .I 13
SW f
d3 12 /
mpar’[s tolerance DIN2768-mk
|
..der Normteiler
Datum Name
Gezeichn | 16.10.2020 | Dennis Bruder e ,
Positionierbuchse mit Anlaufkegel, Stahl
REVISIONSVERLAUF 1
Rev. Anderungstext Anderungsdatum | Anderungsstamm Gen. 01000329000 =
EFSffFEigabe PJ Status Anderungen Datum | Nam weight - | crale 21
6 | | A 3 I 2 I




